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n Hﬂn% E-nlx,,u?iw;n}fw-.ﬁgelmm?s?Ir2+u2n+x.3 m?s.:u,fx.ﬂu
t 4]

1 t
< : f[-t-x+2¢, T] %L £ 1E + x, ﬁL

1]

) 1 t . .
egStar2 = -2 £00V [t +x, t] +3E[t+x, T] £V [t+x, T] - — H.ﬁ Fl-t-x+2¢, ] %L £®0 e+ x, 1| +
t o

1 t
—_ f[-t-x+2¢, T] B [t+x-¢] d¢ ==
2t Jg

0

This is differentbya mwuﬂ, in the last term...? Idon’t see howto recongsile the two results...
egStarl = -2 £(0-1) [t-=x, t] +3 £[t -x, T] £39 e -x, ] -

1 £ 1 t

— : f[-t+x+2¢, ] geu £ e -x, T] - — f[-t+x+2¢, T] B [-t+x+¢] dp ==

t \Jg 2t Jg

0

To simplify the above I will assume periodicity in [ ,7] and B[ ]. B (and B’) should be periodic of period 1 (Real lenght of the interval) and ] ,7] should be periodic of
lenght 2 (length of folded interval) But f[+2 ¢,7] should be periodic of period 1, because of the 2. Then the first integral term becomes...

ASK! Think should U.,w zero... Howknow?

H .ﬁ
||. H.—: “m_”1ﬁ+un+wﬂ~.nu Qﬂu n
t 0

1 Hf_lNﬂ Q_ﬁw 1 H%Nn u 1 +t
- f{-t+x+d, T] —| = ~-— f[-t+x+¢, t] do ullﬁ £, ﬁ_&su
t o 2 2t 0 2t et

The second integral becomes... .
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Now Floor[t]=t—1+h[t] with h{t]<1, thus when limits as t—co are taken the only term that remains in the m@%@ iS...

o .
M% f[-t+x+2¢, T] B [-t+x+¢] do
. 0

And finally the equation to be satisfied for equalibrium must be...

2

, . ) 1
eqStar = -2 £(O) [t +x, t] +3£f[t+x, T] £ [tex, T] + — ﬁ E[-t-x+2¢, T] B [t +x - @] d¢ ==
. s 0 o o .

» Equivalence of the two equations? Ask Rosales if this is correct... Minus sign in Burghers aaﬂmmmu..‘

We have the following two equations from the analysis earlier...

. 1 . ,
egStarl = -2 £ [e-x%, t]+3£[t-x, t] £ [E-=x, EIMQLEL..:?N? T] B [-t+x+¢]dd==0
: 0 -
(0.1) (1,0) ) 1 - .
eqStar2 = -2£% 7 [t+x, t]+3£[t+x, T] £ [t +x, ﬂ_+M f[-t-x+2¢, T] B [t +x-¢] do ==0
. 0

In the first let X=t—x, then we get...

egstarl =.-2 £V [X, t] +3 £[X, ] £ [X, ] - M% f[-X+2¢, t] B [-X+¢] dp == 0
o .

In the second let Y=t+x, then we get...

1

egStar2 = -2 £9°D [y, t] +3 £[¥, t] £ [¥, ]+ 5 %L £[-Y+2¢, T] B [-(-Y+¢)] de ==
. ,

Now if B’[—£]=B’[£], we are done... But this can be made so since our B[x] is only physically defined on the interval O<x<1. Thus we take the EVEN fourier extension
of this function for all reals and we have equivalence of the two equations...

In summary we should solve the following equation to determine the wave propagation in a box 0<x<1

3 1t
£ 1%, ] - 5 % ] £ [x, 7] + M% £[-X+2¢, T] B [-X+¢] dé==0
o
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